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No | #RERFIEfth K £ A | B JEfL

I EHE AT &R SL1E 6 5 1
11[HKRE RAH EF 6 5 2

6| = I8 B H R 6 4 3

1/hEER N B EBX 6 4 3
17[#FRE =45 R 6 4 5

9IfEER BE X 5 4 6
15| R AR JED FO5h 6 4 6
SNLER EH X 6 4 8
43| 1R R Rk Fi 5 4 8
18[E LR BH EX 6 4 10
14[FER Wik Fith 4 3 11
21[IUBIE Ml B¥E 6 3 12
19| E)IE O Zah 5 3 13
26| =F8 AKX EM 5 3 13
29| KB FF FH AKX 6 3 15
38[lLAR LA FFAER 5 3 16
N|EBRE ER K BN 4 3 16

8| LUz IR &R 85 6 3 18
10[ZR3 8 ha #i 4 3 18
45| RIFE R AR Kith 5 3 20
| EER IE B 6 3 21
40|FJIR WA BER 5 3 22

2|dtiEE g Tt 6 3 23
24| 5% 1R A+ FOFE 6 3 23
122(HEER ik —E 5 3 25
16[ZEJIE  |#H S 4 3 25
48| = 158 £H THE 6 2 27
13[BER ek E& 4 2 28

5| 5aF & ERAR E— 6 2 29
MIEBER BR EN 6 2 30
25| Z 508 ik B 4 2 31
23|I B IR ZA5K $hAKER 4 2 32
20| HE =il F 6 2 33
L2|E5HE hE BEX 4 2 34
2| EHFER A EL 6 2 35
BT WA Kig 6 2 35
4| BRE JA B 6 2 35
36| 2 & h SFH 58 6 2 38
35| FE LR HE ZKt 6 2 39
47| KR o EA 4 2 40
504 #EE BE B 6 1 41

RS Tk H— 5 1 42
I|EER FE XE 6 1 43
VERERE |FE RH#H 6 1 44

7|FvE IR Ha R 6 1 45
27|EER FEESE 6 1 46
22|1MFUE  [MMEH IR 5 1 47
33 EMIRE ER EF 6 1 47
28| R &R AT =H i 4 1 49
46|FEKIE Lk ERE 5 0 50




